EXPONENTIALS AND LOGARITHMS - CHAPTER REVIEW

1 Find the values of x for which the following are true.

(@ 7°"*=343 (b) 4 *<128 () 3212
2 Simplify:
(a) log3 18+2 lcng3 9- log:‘ 54 (b) loga (xyz) + log‘l (yzz) — lag“ (x2%)
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6 - ";'JF) + 1 2\!3 = 3

2 Simplify: (€) log,=—= 0810 =

(d) 2log(x+1)=log(x=1)=2log(y+1)+log(y=1),givenx=5and y=2
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3 Express y interms of x a) log,y =x b) log,,y =2+ log,, x —log,, X

7 Use the change of base rule to give each expression as a single term involving natural logarithms.

(@ log,,5 (b) 3+log,6

Section 8 - Page 3 of 6



EXPONENTIALS AND LOGARITHMS - CHAPTER REVIEW
8 Solve for x:

(@) log, (x+2)=log, (2x) (b) log, (2x+3)=log, x° (c) log x*= logf( %)
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9 Solve for x: @) 2" =¢" b) 2¢"*'=¢" (€) 26 =¢"""
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10 $4000 is invested at 3% p.a. compound interest. How long does it take for this money to:
(a) double in value (b) grow to $10000 (c) grow to $800007?
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